PREHR

AFI104#37 1p~2FW104#37 31p 2REEFEFT 30 52

BEF Tk AtH B ERMEL | (ERAX
1 PUE—3F Tk 60 20
2 FEHTHE U] 47 20
3 PUAE—I FUER 33 14
4 NEA—E RIS, 28 16
5 =)t PRI 28 11
6 VOEBT e 24 14
7 HAEAIE B 24 10
8 == S E 19 8
9 N = TE =R 19 8
10 e i HEF 18 6
11 AN PE R EHER 17 9
12 PO BE R R 16 10
13 —FPUHE el 15 11
14 VU —HF FEFREE 15 11
15 —FE=E RECE 15 10
16 AEADE =T 15 9
17 HET— HX 15 7
18 SN +=# 15 6
19 VO =3 TEEEY 15 6
20 A Ak 14 6
21 —HFENPE AT 13 13
2 —FE=E TER 13 10
23 —AFDUbE i) 13 5
24 = MR 12 7
25 VOO HE RIS 12 7
26 AR G A 12 6
27 AR sEE R 12 6
28 —FEIT Bl = 12 6
29 NS LI eV 12 6
30 —FE=3F =g 12 6




